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 WCD�CEX � ��

�	�����	 � �-	
���	 �	 �
�-���	� �
��� �� ����	����� �� ��
8��� � ;�
�	
 WCFX�

��� ��� ��������������� ���� ��
��
��� ����� �������	 = ��� �
�	 .��� �� +	,

�	.�
������� %5���� �
.��� �
��	��	���� �	�	 G) ������	�� ��� ��	 �����
��

-�����6�� 
� ����������� 1�� 	���� �� 10−5K2 �� �������	 �� ��
�	 �� �	
�	 �

�	
�	 
	 �=� ����	
�)-��� ��
� �	�����	 �� .��
��� ���������� W(&X�  ��� �	�	

�	���	� �
5��.�� 	 �
�-���	 ����	����
 ����-=� ����� �������	[ # ����	��� =

�� ��
�	 ���
�	 ����
��� %� z = 0 	 �
�-���	 = G������
�� ���
�����
��� %

���
�	 ���	� 	 �������	 1z2� ���� ��
�	 1ρ = ρ0(1+ z)32 � ���
�� 1T = T0(1+ z)2

= 	 �
�-���	 WCBX� %� z = 1100� 	 �
�-���	 = ��	 ��
�	 ��� ��� �����������

�5���� 3000K� %� ��� �������� � �������� ���
����	� 	 �
�-���	 �	�
�,�� �	�,

�
�����
�� �	
�8��	 � 	���	 � 
�8 -���-�
 1:
���� ���������� �� ����
+���
�	2�

3���� �	��
�	� 	 �
�-���	 ��� 300 ��
 �
	� �� ������ # �������	 �7�����

�� ��
�	 �	���� �� �	
���6�� �	 �
�-���	 ����� �� 380 ��
 �
	� ���	�� �	 ,�


,��
 WCC� CD� (@X� ���
�	 	 ����	 ����	� �� 	���	 ���� ���
�����
��� ����=�
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��.��� &�DN ���#� 1��� �
������ ���	
��� ������	�+	�	�����2 � � � 1��O���
,
���
  ���	M�-� ����	������2N �
������
�	� �	 /!0%� �������	 �� ��
�	 �����
�	�	 �� �	��	 
�.�	 WCA� ('X �� ����������� 2.728 ± 0.004K WCCX� �	� ���-�	
�	 �������	 �� �� �	��	 
�.�	 ���	� ��� 0.25% 
� �
��
������ �� ���	 W(@X� !
��5	 ������	� = 	 �	������
�	 �� 	
�� �� mm� 	 ��5	 +	��8	
��
 �
����	� = �
����PH
��� �� cm−1� � 	 ��5	 -������
 = � �
��
������ ������ �� ��.� T	�
��,�
	
�	� �����	,�����
	 1<
.�
	 �7
��	2�

��-��	 � ���5� �
��.�� ������ �7�	
�� 3���� ����	�	 � ����������� ��� ������
��

���� ��� 	� ��7�	
� � �� �������
�� �
��� �	������ 
	� ��H� � �����	 �������	�

��
��	�� �	�������� � �������� �
=��	
� � �	���� )�	�	� �� +���	.H
�	 � +=
�	


����	�� 
� �+����� =�	�� �� ���	���
���	� 	� ���� �� �����	�
���
�	� ���,

��
�	 ���� �� �
�-���	 �	��
��	 �	� ���=����

# �������	 �7����� �� ��
�	 ����� �5�����
�� �	�	 �� �	��	 
�.�	 1��.�

&�D2� � = ���������8��� �	� 	������� �� ���� 
��� ��.��
���N

• ��� �� ���.��&(���#���� L ∝ T 4 → �� �	��	 ���
�� ���
+� ���� �	

��� �� �	��	 ���	�

• ��� �� 8��� λmax ∝ 1
T
→ 	 �������	 �� �� �	��	 ���
�� = ���� �8�


��� 	 �� �� �	��	 ���	�

� ��� �� ��.��
��� ��������������� W@A� CC� (CXN

• ���%�
��	
� 2, 725 ± 0, 002K^
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��.��� &�BN  ��� �	 �=� -���	 ��
	 /!0%� 	
�� �� ������
��� �	
�
������ ���,
����
��� ������
��� ������������� #
��	��	���� �� 	���� �� ∆T = 18µK� �
���	
���	 �
.�
�� �� 7◦ W('X�

• ����
�%�� �� 1 ����� �� 100 ��
�

# �������	 �7����� �� ��
�	 = ��� ��� ���	��� �������
��� ������ ���� 	 ��,

���	 �� �	��	
	.��� %� @B �� 
	-����	 �� @EBE� � 3#�# 
�
�	� 	 /!0% 1*��


��� ,��-
����� )$������ 
 )$�������� �� /���� *"�����2� �� ���=
��� 	����
�	


� ���5� �� ����		
��� ���� �
�
���� �	� ����
+�� ���� �������	� ��G	� ���
��,

���� 	�G���-	� ���� ����� �	� �������	 � ������������ � �
�	
���� �� Q�����6��

��������� 
� �������	 �7����� �� ��
�	 WCC� CD� (@� ((X� ! /!0% �
5��.�-� ��,

������
�� � 
�8 ��� 	 �
�-���	 ������ ��7� 	 �
�-���	 ��� ����	 ���
�����
��

���� ���� ���5� �	 �������	 �� 
�8 1��-��	 � ���5� �
��.�� �	� �7�	
� ����� �	�,

�����
�	 �� 	
��2� 3�	 �	���	� �������� 	 ���	 �� ��� 	� �
�
����� �����
���

.�
)5��� � 
�-�
� �� .)� ������ ����	 �	��	 
���� ���5� �� �	������
�	 ��

	
��� ! /!0% ��8 ��� ���.�� �=����� �	 �=� �
����	� � ��7� ��-��� ��������	

�	� ���	
	� ��-��	 � �	����	 �� "���� � � �	
��������	 �� 
	��� .�
)5��� 	 ����
,

���	 �	� �� ���� �	
	���	 �� @EE&� �	�	 �	�����	 
� ��.� &�B� #� ��.�6�� ����

���
��� ����	 �� �	�� � �� ���� ����� �� �8�
� � ������
�� �� ����������� �� ���

��.��	 ���� 	���� = ���� �	�N ∆T
T

≈ 10−3K� # �������	 ��� ��� �����������

�=��� �� 2.735K� �� �	
�	��<
��� �	� 	 -�
	� �5������
��
 �����	 �� @EA(

�	� ��
8��� � ;�
�	
 WCFX� ��� ��� 2.9K�

# �������	 ������ ��
	 /!0% WCA�CD�('X = ����	 ��� �������� �	� ��� ���-�
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��.��� &�EN  ��� �	 �=� -���	 ��
	 /!0% 1�����2 � ��
	 ; #� 1����5	2� !
; #� ��� ���	
���	 C' -�8�� ���� �
� W(CX �	 ��� ��� �
������	� W(FX�

�� �������	 �� �	��	 
�.�	 1��.� &�D2 � 2.725K� -�
	� �� �������	 ������� ���� 	

.)� ���
�� �� ���
�	 	 �
�-���	 �� �	��	�� -���	 �	� �� �-����
+���
�	 �	�,

����	
��
��^ � �5��
��	 �	 �
�-���	 ��
��� 	 �	������
�	 �� 	
�� ��
	 ����	

���	� ��� 	 �
�-���	 �� �5��
�� �
��� 	 ����	 �� ������	 � �� 	����-���	� "��,

�=� �	������� ��� ��� ����� �	 �=� ��� ����������� �� 2.7251K �
���
�	

	���� ����� �	 �=� ��� 2.7249K�



&(

3�%�
������ 8*�$

! ; #� 1;�
L�
�	
  ���	M�-� #
��	��	�S ��	��2 �	� 
�
���	 ��
� 3#�#

�� &''@� �	� 	 	�G���-	 �� ����� �� ������
��� �	���� � �������	 �� ��
�	 W(AX� �

�� �� ������ �� ��	���� �	��� � 
�����8� �	 �
�-���	� ; #� ���	� ���� ���.�
�

��� �
��	��	���� ���
�	 � ������
�� �� ����������� �� �������	 �� ��
�	 �������

�� �����6�� 	�	�����U �� ������	� �	 /!0%� � ��� ��� ���	
���	 C' -�8�� ����

�
� W(CX� ��-�
�
�	 �
�	����6�� �	��� � +���7��	 � 	 �����
	 �	 �
�-���	 �� �	���

���� ������� 1��.� &�E2�  ���� � ����������� �� �������	 �� ��
�	 �	���
�	 �	�	

	 �=� �	� �
�� ���	
���	 �
.�
�� 1< 0.3◦2 � ��
����
������ !� ���	� �	 ; #�

�	������� ��� 	 �
�-���	 ��� 13.7 ��
+6�� �� �
	� 1�	� ���	 �� 1% W@A� (CX2� �

��� 	 �
�-���	 �� �5��
���) ���� �������

# .��
�� ���	��<
��� ������ ���	� = ��� �	��� ��-�
�� 	 ����
+	� 	 �	
,

��:�	 �������
� ������ .�	������ � �����
	 �	 �
�-���	� %
�� ����=� �	���

��-�
�� �	��� � ��������� ����	����
 ��� �-	
��� 
� �	��� �� .�
)5��� � ������

��=��� � ��	���� �	��� �� 	��.�
� ����� ��������� ����	����
�

%� &''D� 	 ���=
��� �
�
�L W@EX �
����) �� ���	� �	� � ���������-� �� �����

�� Q�����6�� �� ����������� �� �������	 �� ��
�	 �	� 	���� �� ∆T = 10−7K�

#�
�� �5����� �����6�� ��
����
���� �� �����	 
	'����� .������ ��� �	�
�

��
�-�
�� 	 �
-������
�	 
����� ��	G��	� ���� 	 �����	 �� �������	 �7����� ��

��
�	� %
��� �
��� ��� ��� ���� �
�������
��� = ����� �	�	 � �������	 �� ��
�	

�	�� ��� +	�	.H
�� �	� ��� �������	 ���	� ��� 1�� �� ����� ��.�6�� 
�
�� ��

�	��
������� ���	 =� ��	 ��.�6�� 
�	 �	
������� �� �	��� �����
[ ���	 ���	���

�	 ���	 ��� � 
�8 �� �������	 �� ��
�	 �	� ������� ���
�	 	 �
�-���	 �� �	�
	�

���
�����
�� 1���������� �� :
���	 ����
+���
�	2� ���	5�������
�� ���
�	 	

�
�-���	 ��
+� 300 ��
 �
	�� �� z = 1300� ! ����
+	 �� )��� ��� �	�� ���

�	
�����	,�� �� �	��� �����
 = �	���
�	 ��
	� ��� 300 ��
 �
	�,
�8� � ���� )���

������� +	G� �	� �� <
.�
	 �� �	��	 ���	� �� 1��

/	�	 G) �������	 
� �
��	����	� 	 �
�	 .��� �� +	�	.�
������ 	����-��	 
	



&F

��.��� &�@'N  ��� �	 �=� -���	 ��
	 ; #� �� 	���� ��
�� �� ����PH
���� 3	,
-���
�� ���� �� ������
��� �	��� �������
��� ������
��� ������������ W(AX� %���
���� = ���
��
�� � ��.���
 �	 �
�-���	 ����	����
 W(FX�

�
�-���	 ��� ���	 ��
���	
��	 � ��
<���� �� �7�	
� �� ����������� �	������� ��

���-����� 
�.���-�� #� ���G��7���� �	�R
���� ��	 
���� ���	 �	�����
�� ��7����� �

� ��
<���� ������
�� �	��� ��$��
 WBX� 4) ��� �	
G������ �� 0���S ��� ��8 ��� ��

��
�6�� �� 	
�� �� �������� 	
�� �  ��<
��� /
)����� = �	�����
�� ��7����� �	,

��� ��� �	��
���� �	� ��
�6�� ��
�R����� .������
�� 1���	 =� ��
� ������	����	

�� 	
��� ��
�R�����2 W(DX� 	 ��� �5�
������ 	 ���	 ��� �� Q�����6�� 
� �������	

�� ��
�	 ������ ��� �����������	 .������
� W@'�@@X� %��� 
	 �
��
�	� = �	�	 ��

	���	 �5��
�	 ����	 �� �������� �+����	 �� /�	� *�<
���	 WD�(BX� ���� 	 ���
�

�� 	���	 ������
	 
���� ����������	 ����� 
�����)��	� ��� 
�	 �	
-�
��
���

���	� �	 ; #� �
����� ��� �	
�������6�� �� ��
��� 
�	,.������
	� 
��

Q�����6�� �� ����������� �� �������	 �� ��
�	� � ��= ����	 �� ����	 �
����,

��
��
� 
�	 ��	 ��.
������-	� W(EX� # .������
����� 
�� Q�����6�� �� ������,

����� 
�	 = �� �	
��
�	� 4) �
:���	� �����
+	� ��� �
-����.�� �	�����
������

�
����-��� �� ���-�	� �� .������
����� 
�� Q�����6�� ����	������ ���
�	 	� ���	�
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�	 ; #� WF'ZF&X�

��$ ������������ �� ���%������� �� !��
��

���� �5�
���� � .������
����� �� �������	 �7����� �� ��
�	 �� .�	������

+�����7
��� = 
�����)��	 ���	���� � ��	�������� �� �
�����
����� ����� ���	 ��

.�	������ 1-���	 
	 #�H
���� #�@�&2� ���	 =� ���� ���G��7���� ��� �
����
��
��

����	 G�
��� �� t = 0� ��-��.�� ��������
��� �� �	��� �5�	
�
���
 ���� t > 0�

! �����
�� �����	 ����� �� ������
�8���	 �� �7�	
� �� �
�-���	� �� �	�	
	.��

�	������ � ���-����� 
�.���-�� ������	 
	 ����.	 �� ������
 �	 �� WFX� ! �)
��
	

������,�� �� �� �
�-���	 �������	 �	� �� �
���
�	 �� 
�
+� �� �	��� �$�; 1���

1&�@22� ��G	 �����	,����	 = �������	 �	�N

ds2 = R2(τ)

[
(1 + 2φ)dτ 2 − 1 − 2φ

1 + k
4
(x2 + y2 + z2)

2 (dx2 + dy2 + dz2)

]
, 1&�C2

	
�� R2(τ) = 	 ���	� �� ����
� 1#�H
���� #�C�B2� ����=� �	
+����	 �	�	 ���	

�� ���-����� �������
 �	 �
�-���	 	
�� τ =
∫

R−1dt = 	 ����	 �	
�	���� � R

������� �	��
�� 
���� ���
���	 ����� ��� ����� �����6�� �����
���� �
-����
���

�	
�	���
��
�� W(X�

3���� �	���
���	 � �=����� �	 �����	 = ���������� �	� Q�����6�� �� ��
��,

���� �	� -�
	������� 
�	,��
���-�������� � ���� ����������	 = ���� ��
	 �	��
���


.��-�����	
�
 3�M�	
��
	 φ << 1� ���
�8�,�� 	 ������� �	
�	��� �� �		���
����

���	 3�M�	
��
	� �	� -���)-��� ��������� (x, y, z)� �	����
����
�� �+������ ��

�	,�	-�
���� �	�� �5��
���,�� �
��	�����
�� 
� ����� ��5� �� �5��
��	 �	

�
�-���	� #� �
������ ��	 ���	
+���� �� �	��� ��� � �	
���
�� .��-�����	
�
 #

� � -�
	������ �� 
�8 � ��	 �.���� � 1� "���=� �	� ������8��	 ���������6�� 
	

��
�	� �� ;�S
� �������������	 �� 	
��� .��-�����	
���� � Q�����6�� �� ������	

��������� �	� �5���
	� �	� 
�����
	� ��
���-�����	��

������	� �� ������� �� ������ 
�������� 1��� 1&�(22 ��� �� �����	 ���-	�
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������-� � ��������	 ξ ��� ���G��7���� �� ���� .�	�=����� �� �7�	
� ��� �
����
,

��
�� ����	 G�
�	�� ���
�8�
�	 	 ����	 ��  ��-
����� � 	 ����	 �� ����������	�

�	 ��
�	� �� �����

 Rα
µνβ 1����
+�� �� #�C�A2N

d2ξα

dλ2
= (R′α

µνβ + δRα
µνβ)V µV νξβ 1&�(2

	
�� λ = 	 ���<����	 � �� 1���
��	 �� WFCX �	�	 ��
�	 	 �:
���
	 �	 ����	

��7���	 τ ���� �� ���
	����
�	N λ = aτ + b2� � J ��	 -��	��� ��
.�
���� ���

�	��� ��� �
���������	� �	�	 � ������,-�
	������ �� �� 	����-��	� �	,�	-�
���

%��� ������	 �5������ ��� � ���
�����	 ��
���-� �
��� ���� .�	�=����� -�8�
+�� =

��	�	���	
�
 � ���-������ ��������
��� � ���
�����	 �� .�	�=����� -�8�
+�� = �
,

���������� �	�	 � ��
��������	 ��� �	���� .��-�����	
��� �� ���=� ���� �5�����	�

��
	 �	��
���
 .��-�����	
�
 φ�

�� ��	��	 �	� � "��� 	� �7�	
� 1
�82 ������-�� .�	�=����� 
�
�� 1��
	�

����<
��� �
��� �	�� �-�
�	�2 
	 �����	,����	� "	��
�	 �� ��.��
��� �����6��

���� 	 �	-���
�	 ��� ���G��7���� 1.�	�=�����2 ��� 	� �7�	
� ��.��� �	�	N

V µ = V ν =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1

0

0

1

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

, 1&�F2

� �	��
�	 �� ���������6��� 
	 -��	� �	
�5�	� �	�	 ��
�	 	��	.	
��� � ����

�#	�������� �������� ��� � �����
��� � �$	���� 
��
� δ ���� ������� ���	�� �������������

�� ������������
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������	� ���	 =� 
�� �����6�� ��������� 5 � SN

ξα =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

0

ζ

η

0

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

. 1&�A2

���
�8��	� 	 ��
�	� �=����	 
�	,���������	 � 	 ��
�	� �=����	 ���������	��

��������-���
��� �	�	 ��.��N

gγε =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0

0 −f(r) 0 0

0 0 −f(r) 0

0 0 0 −f(r)

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

1&�D2

	
��� ���� ����
����� � 
	����	� ���
��	�N

f(r) =
1(

1 + k
4
r2
)2 1&�B2

�

δgγε =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

2φ 0 0 0

0 2φf(r) 0 0

0 0 2φf(r) 0

0 0 0 2φf(r)

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

. 1&�E2
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	� �	�����	� 
	 #�H
���� 0� �+�.�,�� ��

��.��
��� �����6�� ������
����� 	���
)���� �� ��.�
�� 	����� ���� �� �	��	
�
���

��	��� ���	 �� 	������ �� %&'(�
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�� ��������	 �
��� ���� .�	�=����� �� �7�	
�N

d2

dτ 2

⎛
⎜⎝ ζ

η

⎞
⎟⎠ = −

⎛
⎜⎝ k + 2φζζ 2φζη

2φζη k + 2φηη

⎞
⎟⎠
⎛
⎜⎝ ζ

η

⎞
⎟⎠ 1&�@'2

	
�� ζ � η ��	 �� �	��	
�
��� �� ��������	 
	 �
�
	 τ �����
����
�� � ������	

�� �	-���
�	 V α� � ���	� �� ����-���� ��.�
��� �� φ� �+������ �� �	���� ��

���=� ��� �	��� ��� �	��
�����
�� ���������8���� � ������ �� �� �	��
��	

�	
+�����
�	 ��� Q�����6�� �� ��
������ �� ���=���� %
���
�	 �� �	-�� ��

�7�	
 ���� ���� �����������	 �� ���=��� �	�	 ��� �	��� ���	�)����� ����
��
��

�	 ����	� %��� �	��� Q���� ��������
�� 1� -�
	������ �	 �7�	
 = .��
��2 �

�
���	�����
�� WFX 1���	���������
��2 �	� �=��� ����	��
 
�
�� # �����������	

��
�R���� ���� � �����������	 �� ���=��� �� 
��.� ����
� = ��8	)-�
 ���� ���

�������� �
-����.���	 �	 ��	�
���� ����� �	�	� ����=� 
��� ��-��.�
�� �� ��,

��
���	� ����
��� 
� 
��������� WF(X�

���� �
������ 	 �	��	�����
�	 ���
�����-	 ����� �
���� �� �����6��� = ���,

���
�� �	
������� ��� �	��	
�
�� �������8�
�	N

d2u

dτ 2
= −(k + Af(τ))u 1&�@@2

	
�� A = �� ���<����	 �� �	
��	
� � f(τ) ��� ��
��	 ���	�)����� �	� �=���


�
�� %��� ������	 ��� ��� �
�
	.�� ���<
���N �
� ����=� ������-� �� �H
,

��
	 �
-�����	 �	� �� ��-R �7-�
 
�-�� ���� 	���
�� -������
��
��� 
	 
����� ��

�����
�� 	���
��6��� 3���� ���	� u ��
	�� 	 ���
	����
�	 �
.�
�� � 	 ����	

Af(τ) ������-� � �
���� �	 ��-R� # �	��� .��-�����	
�
 ��� ���������
�8� 	 �H
,

��
	 �	�����	
�� � .�	������ �	��	
7.��� +�����7
��� ���-� 1
�	,����������2�

�
���
�	 ��� 	 �	-���
�	 �	 ��-R �	�����	
�� �� ���������6�� �� �=����� �
,

��8���� ��
�� Q�����6�� 
� ��
������ �� ���=���� %��	�� � ������	 1&�@@2 �	���

������� ����
��� ���� �	
��6�� �5���� ��� ���� -�������� �� ������
��� �	��	�,
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���� ��	������ ���� �
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����P�
����
��� � ���<
��� �
)����� = -���� �	�	 ��� )��� �� ������ G)

�	
�������
�� ������
����� � ���)����� 	
�� 
�	 �� -��
����� ���� 
�
+��� ��,

��	����� ��� �	��� �
Q��
���� 	����� )���� � 	
�� �	��� �� �
�
	.��� G) �	���

������ WFFX� �	�=� ���� ��=�� = ����-	����� �	
�	��� �	�����	� �����

"�������	� �� �������� ��
<���	� �	� 	 �
����	 �� �	����� � �
�
	.�� �
��� 	

�	��	�����
�	 ��
�R���	 �
)����	 �� �� �H
��
	 ���������	 �	� �� ���G��7����

�� �7�	
� �� �� �
�-���	 �	 ���	 ��$;� %
�	
���� ����� �
�
	.��� = ����
���� 	

�
��
����
�	 �
�����-	 �� ��
R��
	� �	��
����	� � �������� -�����

��� &������� ���'��

�

�� ������� ��
<���	 = �� ������� �� � �����6�� ������
����� �� ��������

	���� �� � -���)-��� x = (x1, x2, . . . , xn) ��� �� .���
� ���
�� �� �	
�	 
	

�����	 %��
����
	 RnN
d�x

dt
= �̇x = f(�x, t) 1C�@2

��� �	
���	 �� �� ������� ��
<���	 = ��� ��
��	 -��	���
 �x(�x0, t) ��� ���,

C@



C&

����8 � ������	 1C�@2 � � �	
����	 �
����
N

�x(�x0, 0) = x0.

%� 	����� ��
�-���� �� ������� ��
<���	 = �� ������� ��� �	���� �� ��	���

�� ���� �
���
�� �� ����	� ��
�	 ��� 	 ��	��� = ��� -���)-�
� 	� �	
G�
�	 ��

-���)-���� �
���
� �	 �������� ��� �-	
��� �	 
	
.	 �	 ����	 WFAX� �� ���7���	

�� ).�� 	
�� 	 
�-�
 	� -	
��� �� ).�� 
	 �
����	� �	 ���7���	 = 	 �����	 �	

�������� 	� ����=�� �� �	�
	 	
�� 	 �����	 = � ����������� �� ��� �
����	��

��	 �5���
	� �� �������� ��
<���	� ��� �� �
�	
���� �� ��	�
���� �	�����
	��

�� ������� �	�� ��� �������
�����	 	� ���	�)����	� ����
��
�	 �� �	�	 =

�������
���	 	 ��� �����	� ���� �����	� ��� �	��� -�
	��� ������ �5	�� 	 �������

= ���	 �������
�����	� �� 	� �����	� �	 ������� �	��� �������	� �	� ��� ��
��	 ��

��
������ �� ��	����
������ ����-=� �� ��� -���)-�
 �
���7���� �
��	 	 ������� =

���	�)����	� "�������	� ���
�� �� �������� ���	�)����	�� 	
�� = �	
-�
��
�� �	
,

������� -���)-��� ���	�)������� ��-��	 � �5���H
��� �� ���������6�� �����-���-���


	 ������� WFAX�

J��	� �	����� 
	��	 �����	 �� ������� ��
<���	 �	� �� ������� 4���
�	,


��
	� �������	 �	� ��� ��
��	 4���
�	
�
� 342� ��G�� ���
������ ��	���������

�� 
	��	 �
������� ��	N

• ��� ���������	� 	
�� ��� 	� ���� ���
������� ��	 �	
���-����^

• �� �����6�� ��	 ��-����-��� 
	 ����	^

• 	 -	
��� 
	 �����	 �� ����� = �	
���-��	 3	������ �� >��������5^

• � ��
<���� 	�	��� �� �� �����	 �� ����
��	 �
����� 1
�	 ������
2�

! ���	 ��� ���������	� = 	 ���� �	��� � ���	�	 	���
��	� +���R
��	N 	 �H
��
	�
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)
	.	 ��)���	N ��
��� ������
�8�� 	 �H
,
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� �	����	 �
-������ ��
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�	 ��� ����PH
��� u +	��8	
��
� ������
����
��
�
��� �	� � ��	� 1�2 #
)
	.	 �5������
��
N ������
�8���	 
� �	����	 �
-������
���
�8�
�	 �� ���	��� �7-�
 �	
��	
��	� �	� �5���
	� �	� �	������	��

�
�
� � �������

�� �H
��
	 	���
)��	 ����
�� �	
����� �� ��� ����� �� �����
�� �� ���

����� ��.��� �� �	������
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� �� �� �
�
	 �����
�	 �����	 �� �� ����	

.��-�����	
�
 �
��	���� %��� = �� ������� �����
����
�� ����
��� �
=� �� ��� ��

�	��
	 �����	 ����	 :��
 � -���)��
� ��� �	���� ��� ��
<���� �
��� ��G� ��������	

= ������-�
 �
�
���-� �	� �
�
	� ���
�����
����

! �	-���
�	 �
�����
��	
�
 = 	 ��� 
	� �
������� 
���� ��	���.�� �	 �H
,

��
	 1-�� ��. C�@2� ! $�.��
.��
	� 	 �	��
��� � 	 4���
�	
��
	 ����� �������

��	 ���	�� ��������-���
��� �	� WFDXN

L =
1

2
m(lθ̇)2 − mgl(− cos θ) 1C�&2

P =
∂L

∂q̇
= ml2q̇ 1C�C2

H = pq̇ − L =
p2

2ml2
+ mgl(− cos θ) 1C�(2



C(

��� �	� ��� -�8 .���� � ������	 �� �	-���
�	� ��� = ��� ������	 ������
���


�� ��.�
�� 	����N
d2θ

dt2
+

g

l
senθ = 0, 1C�F2

�� �		���
���� �	
����� 	
�� θ = � ���
����� �
.�
�� �� 	���
���	� 
 = � ���
,

�����	 �� .��-����� � � = 	 �	������
�	 �	 �	 �
�5��
��-�
 1	� ����� ��.���2� U

��� ������	 
�	,
�
��� ����
�� � ���	���
��� ��� 
�	 �	���� �	
���	 �
�
�����

�� ����	� ��� ��
�6�� ����6��� ��� �5���� ��� �	
���	 �
�
����� �����
�� �	�,

�
����� ��� = ���� �� ����	� �� �
-���� �� ��� ��
��	 ���
��� �	� ��� �
��.��


��� 
�	 �	�� ��� �5�
�������
�� �
��.����N

sen

(
1

2
θ(t)

)
= sen

(α

2

)
sn

[√
g

l
(t − t0), sen

(α

2

)]
, 1C�A2

	
�� α 1���
����� �	 �	-���
�	2 � t0 ��	 �	
���
��� �������
���� ��
�� �	
���6��

�
������� � ��9�:5; = � ��
��	 ��
	,�
������ �� T��	�� � ���
 = � �
-���� �� ��
��	

���
��� ��
� ��.��
�� �
��.��
N

∫ t

0

dx√
1 − k2sin2(x)

1C�D2

%��� �	
���	 �5�
����� = ��	 �	��
����� ��� = �5�������
�� ������
 �5����� �� ���
,
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�� �	
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�� �
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���	 �� ������	 1C�F2
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	 �����	 �� ����� ��	 ���+���� �	��

θ + 2π = ����-�
�
�� � θ� ���	 =� �	���� ����	�	 �� &π� �� �	��� ��� 	 �����	 ��

����� = ��
�
����	�

3	 .�)��	 �	�����	 
� ��.��� C�@� �	���	� -�� 	� �	
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�� �.��
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-������ WFBX�
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	 �����	 �� ����� �� �� ������� ���	 	 �H
��
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���-�� ���+���� ��	 �	���� ! ��5	 -������
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�� �� 	���
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�
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+��� ��� ����� ����-=� �	� �	
�	� �
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���
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��
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�
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�	 ��� -������	 -������
 �	� ��� ����� ����PH
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�	� ��� ���
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�
�	 -	
���	

���� ���5	 W@&� FFX� %��� ����	����� ����� �	� I����8� �������� 	 �
������� ��
��

+	G� �
��� ���������	��� WFEX� # ������	 ���� .���
 ��� ��.� 	 �	-���
�	 �����

���	 �� �H
��
	� ����=� �	
+����	 �	�	 �H
��
	 �
-�����	� = WA� A'� A@XN

Iθ̈ + bθ̇ + ml(g − εω2 cos(ωt)) sin θ = 0,

	
�� b = �� ����	 ��
���	
��	 � �	���� �� �����	 � I = 	 �	��
�	 �� �
=����

ml2� m = � ������ l = 	 �	������
�	 �� +���� �	 �H
��
	� θ = 	 ���
	����
�	

�
.�
�� �����	 
	 ��
���	 +	�)��	 �� �	����	 -������
 ���� ���5	� � ε � ω ��	 ��

���
������ � ����PH
��� �� 	���
���	 -������
� ��8�
�	 ��� 
	���
�8���	 �	�

ωt = 2πt � θ = 2πx� 	����	�N

ẍ + 2πβΩẋ + 2π(Ω2 − A cos(2πt)) sin 2πx = 0,

	
�� ω0 =
√

mgl
I
� β = b

Iω0
� Ω = ω0

ω
� A = mlε

I
� /	
������
�	 ��� � �	����	

�
-������ = �� x = 1
2
� � �	����	 
�	,�
-������ 1�����	 �� ����
����	 ���)-�
2 =

x = 0� �	���	� ��8�� ��� 
�
����8���	 �� �	�
	 �� x = 1
2
� ��8�
�	 x = u + 1

2
�

����� �	�	� � ������
����� 
�
��� �	 �����	 �
-�����	 = �������
��	 ��
� ������	

��  ��+���N

ü + 2πβΩu̇ + 4π(−Ω2 + A cos(2πt))u = 0,

���� �� ������� �	
���-���-	 ���	� β = 0� � ������ �+�.��	� 
� ������	

�
�����
��	
�
N
d2u

dτ 2
= −(k + Af(τ))u 1C�B2

	
�� A = 	 ���<����	 ��� �	
��	
� � ���
����� �� f(τ)� ��� = ��� ��
��	 �	�����

���	�)����� �	� �=��� �.��
 � 8��	� ������-� � ��
<���� �	 �H
��
	 �
-�����	 
	



CD


����� �� �����
�� 	���
��6��� U � ����� ������	 ��� ������-� 	� �7�	
� -��G�
�	

�� �� �����	,����	 �	� ���-����� -���)-�
� ��-��	 � �����
�� �� ���=����

��� �(���	
 ���'��
� �
� !��
��

#� �����6�� ������
����� 	���
)���� �� ��.�
�� 	���� ���� �� �	��	
�
��� ��

��������	 �
��� ���� .�	�=����� �� �7�	
� 1������	 1&�(22� �	������� 
	 ������
	

�
����	� 1&�@'2� ��	N

d2ζ

dτ 2
= −(k + 2φζζ)ζ − 2φζηη

d2η

dτ 2
= −2φζηζ − (k + 2φηη)η

� �	���	� �������-H,
�� �	�	

d2ζ

dτ 2
= −(Aζζf11(τ) + k)ζ − (Aζηf22(τ))η 1C�E2

d2η

dτ 2
= −(Aηηf33(τ) + k)η − (Aζηf22(τ))ζ, 1C�@'2

	
�� Aζζ � Aηη � Aζη ��	 ���
������ ������ �	�	 ���<����	� �� �	
��	
� ���

�	��	
�
��� ��	�
���� ζ � η � ζη� ��������-���
��� !� �	��
����� 3�M�	
��
	

��	 �������
���	� �	� ��
�6�� ���	�)������ fii(τ) �	� i -����
�	 �� 1 ��= 3 �	�

���
����� A� ��� �������
��� �� Q�����6�� �� ���-����� �	 �����	,����	� ��

����� �	���	� �	�	 ��
�	 �=��� .
	��
 �.��
 � 8��	� �����N

φζζ = Aζζf11 = Aζζ cos(ω11τ)

φζη = Aζηf22 = Aζη cos(ω22τ)

φηη = Aηηf33 = Aηη cos(ω33τ).

%����	� �
��������	� 
� ����PH
��� ω �������������� ��� Q�����6�� �� f(τ) �	�

-�
	��� �
�	�� ���	 =� ω → ∞� �	�� 	� �7�	
� ��	 ��
���-���
�� �)���	� � ω = �



CB

����PH
��� �������������� �	� ��� 	 �7�	
 ��
�� � ����������	 
� ���-������

# ����
�H
��� �� ������
����� �� ω �	�� ��� 	����� ������
�	 �� -���)-��� ζ

� η �� �	��	
�
��� ����
�	������
�� �)����� 1β(τ)� γ(τ)2 � �	��	
�
��� 
�
���

1X(τ)� Y (τ)2 WFX� ��	�	
�	 ��� �����������	 ����� ���	N

ζ(τ) = X(τ) + ω−1β(τ) 1C�@@2

η(τ) = Y (τ) + ω−1γ(τ). 1C�@&2

#��� X(τ) � Y (τ) ��	 �	��	
�
��� ��� -����� 
�
����
��� ���	 =� ��� ������-��

�	-���
�	� 
�
�	� 
� ����
� �� ����	 �� 	���
��6�� �	 �H
��
	 
�-��� T)� β(τ) �

γ(τ) ��	 ���
������� �����
�� ��� -����� ��������
�� �	
�	��� ω → ∞� ���	
=� ������-�� �	-���
�	� �)���	�� ��� 	�	���� �� ��� ��5� ����	 ���	� �	 ���

�� -�����6�� �	 ���	��� �	 �H
��
	 �
-�����	�

���������
�	 �� �����6�� 1C�@@2 � 1C�@&2 �� 1C�E2 � 1C�@'2� ��������-���
���

���	�N

Ẍ + ω−αβ̈ = −(Aζζf11 + k)(X + ω−αβ) − (Aζηf22)(Y + ω−αγ) 1C�@C2

Ÿ + ω−αγ̈ = −(Aηηf33 + k)(Y + ω−αγ) − (Aζηf22)(X + ω−αβ), 1C�@(2

�.	��� ����
�	 � �=��� � ������
�	 ���N

〈
β̈
〉

= 〈β〉 = 〈γ̈〉 = 〈γ〉 = 〈fii(τ)〉 = 0〈
Ẍ
〉

= Ẍ〈
Ÿ
〉

= Ÿ

〈X〉 = X

〈Y 〉 = Y,

	
�� 〈...〉 ��
	�� �=��� ����	��
 
	��
 �	� ����
�� .��
��� �	�������� � ω−1� #



CE

�=��� = ���
��� ��
� ��.��
�� �
��.��
N

〈g(t)h(t)〉 =
1√
2πβ

∫ ∞

−∞
dt′ exp

[
− 1

2β
(t − t′)2

]
(g(t′)h(t′)). 1C�@F2

#�
��� ����
�	 ���N

〈g(τ) + h(τ)〉 = 〈g(τ)〉 + 〈h(τ)〉

〈ϑg(τ)〉 = ϑ 〈g(τ)〉 , 1C�@A2

	
�� ϑ = �	
���
��� �+�.��	� � ��.��
�� ������	N

Ẍ = −k 〈X〉 − Aζζ 〈f11X〉 − Aζη 〈f22Y 〉 − Aζζω
−α 〈f11β〉 − Aζηω

−α 〈f22γ〉

Ÿ = −k 〈Y 〉 − Aηη 〈f33Y 〉 − Aζη 〈f22X〉 − Aηηω
−α 〈f33γ〉 − Aζηω

−α 〈f22β〉 .

#�����
�	 ��� 〈f11(τ)X〉 = 〈f22(τ)X〉 = 0 � 〈f22(τ)Y 〉 = 〈f33(τ)Y 〉 = 0� �

������	 �
����	� ����
�� ��N

Ẍ = −k 〈X〉 − Aζζω
−α 〈f11β〉 − Aζηω

−α 〈f22γ〉

Ÿ = −k 〈Y 〉 − Aηηω
−α 〈f33γ〉 − Aζηω

−α 〈f22β〉 .

/	
	��
�	,�� ω−α �� �-��H
���N

Ẍ = −kX − ω−α(Aζζ 〈f11β〉 + Aζη 〈f22γ〉) 1C�@D2

Ÿ = −kY − ω−α(Aηη 〈f33γ〉 + Aζη 〈f22β〉). 1C�@B2

�������
�	 � ������	 �
����	� �� 1C�@C2 � 1C�@(2� ����	 � ����	� � �	��
�	 	


����� �� ω → ∞� 	� ����	� ω−α �	 
��	 ������	 �� ������	 -�	 � 8��	 1ω−α → 02�



('

�+�.��	� �N

ω−αβ̈ = − −Aζζf11X − Aζηf22Y

ω−αγ̈ = − Aζηf22X − Aηηf33Y.

%���� �����6�� �	��� ��� �
��.����� ��������
��� �����
�	 〈X〉 � 〈Y 〉 �	�	
�	
���
���� ��
	 ���	 �� ��� Q����� ����	 
�
����
�� �	� ω → ∞� 
�-�
�	 �	�
����
���	�N

ω−αβ̇ = −(AζζX + AζηY )

∫ τ

τ1

fii(τ
′)dτ ′ = −(AζζX + AζηY )vii(τ)

ω−αγ̇ = −(AζηX + AηηY )

∫ τ

τ1

fii(τ
′)dτ ′ = −(AζηX + AηηY )vii(τ),

�	� τ1 ��
 ��� 〈vii(τ)〉 = 0� �
��.��
�	 
	-���
��N

ω−αβ = −(AζζX + AζηY )

∫ τ

τ2

vii(τ
′)dτ ′ = −(AζζX + AζηY )zii(τ) 1C�@E2

ω−αγ = −(AζηX + AηηY )

∫ τ

τ2

vii(τ
′)dτ ′ = −(AζηX + AηηY )zii(τ), 1C�&'2

�� 
	-	 ���	
+�
�	 τ2 �� �	�	 ��� 〈zii(τ)〉 = 0�  �
���
���
�	 ���	� 	� 
��	�

��� �����6�� 1C�@E2 � 1C�&'2 �	� Aiifii(τ) 1
�����
�	 ��� �
����� �������	�� ��

������
��� ����	�� �
����� �	��2� ���	�N

ω−α(Aζζf11β + Aζηf22γ) = −(A2
ζζX + A2

ζηY )fii(τ)zii(τ)

ω−α(Aηηf33γ + Aζηf22β) = −(A2
ζηX + A2

ηηY )fii(τ)zii(τ).

"	��
�	,�� � �=��� �� ���	� 
��	� ����� ������	� � ���
�	 �� �����6��

�
����	���� �+�.��	� �N

ω−α(Aζζ 〈f11β〉 + Aζη 〈f22γ〉) = −(A2
ζζX + A2

ζηY )
〈
v2

ii(τ)
〉

ω−α(Aηη 〈f33γ〉 + Aζη 〈f22β〉) = −(A2
ζηX + A2

ηηY )
〈
v2

ii(τ)
〉
.



(@

�	� �����������	 ������ �����6�� �
����	��� 
�� �����6�� 1C�@D2 � 1C�@B2� �	�

��� 	��=�,��N

d2 〈X〉
dτ 2

= − (A2
ζζ

〈
v2

11(τ)
〉 〈X〉 + k 〈X〉 + A2

ζη

〈
v2

22(τ)
〉 〈Y 〉) 1C�&@2

d2 〈Y 〉
dτ 2

= − (A2
ηη

〈
v2

33(τ)
〉 〈Y 〉 + k 〈Y 〉 + A2

ζη

〈
v2

22(τ)
〉 〈X〉) , 1C�&&2

��� = ��� �
)
��� .�
���
�8��� �� ������	 �	 ���-�	 .�	�=���	 1#�&(2�

��� )�
� 
�*���

 ��������+���



# ��7���� ���
���	 �� ��
�-�� ��	� 
	� ������ � ���	���� �	��
���� �	���

�� ���
����	 = 	�	��� �	 �	
����	 �� 	���� � �	
���P�
����
��� ���-�����
������

$������	� ��� � ������	 �	 ����	 >�+)	�> 
	 ��� =���	 .��.	 = �� ���
�� 	�

� ��	��� ���
������ �� ���� ��� 	���� �	���
�	� �
�������
���� #��
�� �	� 	�

�	��
	� = ��� �	�	� � ������	 �� ��������� �	�	 	�	����	 �	 >L7��	�> 1	�,

���2�

 �� � ���	���� 
�	 
�����������
�� = -������� �	�� �5���� ��	� �������
��,

���	� � �	��� +�-�� 	���� � ���-�����
����� 
���� ���	 �� ��	�� % = �5�����
��

����	 ��� ��������	�� # 	����� �� ���� �	�� �5�
���� ��
<����� �	��
�5�� �� ���,

����� ����
��� ���	 =� �	��	�����
�	� �
���7��	� �� �������� �	��
�� ��
 �	�	

�	�����	 
	 �H
��
	 �
-�����	 ���������	 1��� 1C�B22� �� ��� 	���� �	����

�	���	� ��8�� ��� � 	����� �� ���� ����� �	 �	��	�����
�	 �� �������� ��
<��,

�	� �	� ������	 �� �	-���
�	 
�	,
�
������

%� �����	� 	 ����	 ��	� = ����	 ���
�	 �� ������� ��
<���	 = ����	 ��
,

��-�
 �� �	
���6�� �
������� �� ��� ����
�� ��
��� 
	 ����
G	 �� �� �5������
�	


�-� � ����
���	� �����������
�� ������
���� ���� = ��� ����
����� �� ��	��

��
��� �� ��	� �� ��� ���������� �� ���-����� 
�.���-� = �
.	 ����
��� �	��

�����,�� �� ��	� �������
�����	� 	
�� � ���
����
 �������������� = 	 ���	 �	 �	�,



(&

�	�����
�	 �	 ������� ��7���	 ��� �5�������
�� ��
��-�
 �� �	
���6�� �
�������

�
�
� ���� �� ����������� ������������

# ��������	 �
���
���� �� �� �����	 �����

��
	 
,����
��	
�
 = ���� ��

��
��	 ��� �		���
���� q = (q1, q2, ..., qn) � �� �=����� 
	��
 ds� # ����<
���

�
��� �	�� �	
�	� -�8�
+	� = ���� �	� ��� ��
��	 �����)����� ��
�	 ���� 
�

�	��� ������
���
 �	�	 WDXN

ds2 = gjkdqjdqk 1C�&C2

	
�� gjk = 	 ����	 ��
�	� �=����	 �	�����	 
	 #�H
���� #� � = ��� ��
��	

���-� ��� �		���
���� q� # �
��.��

∫

ds �	 
	
.	 �� ��� .�	�=���� 1��.� &�@2

���
� �� �	������
�	� � ����<
���� �� �� �����	 �����

��
	 ��	 ������� �	


	
.	 �� .�	�=������  �� �� ������	� ����� ����<
���� �
��� ���� .�	�=������ ��

�	��� ��� ��-��	� �
��	� ���
�8�� � ������	N

d2ξ(s)

ds2
= −kξ(s), 1C�&(2

	
�� ξ(s) = � ����<
��� �
��� ���� .�	�=������ �	� ���<����	 �� ����<
��� s� � L

= � ���-����� .������
� 1-�� #�@�@2�

U ����	 �)��
 �������� ��� � �	
���	 �� ������	 1C�&(2 ���� k = −1 1.�	������

+�����7
��� , #�@�&2 = �	 ���	 �5�	
�
���
� ���	 =� � �	
���	 ��-��.�� % ���� k = +1

1.�	������ ���=���� , #�@�&2 � �	
���	 = 	���
��7���� ���	 ��
	 	� �	���
	� �����

�	���N

d2ξ(s)

ds2
= ξ(s) −→ ξi(s) = Ae±t 1C�&F2

d2ξ(s)

ds2
= −ξ(s) −→ ξe(s) = Acos(t) = Asen(t), 1C�&A2

	
�� A = ��� �	
���
�� � ��� �������
��� ��
�� �	
���6�� �
������ 	� ��
��

�	
���6�� �� �	
�	�
	 �	 �������� ξi(s) = � �	
���	 �
��)-�
 � ξe(s) = � �	
���	



(C

���)-�
�

#� �	
��6�� �
��)-��� ξi(s)� ��� ��-��.�� �5�	
�
���
��
��� ��	 �� �	
��6��

������� ���� ����������� +�����7
����� 3	 �����
�� �	
��5�	� 	
�� �����	� ����,

��
�	 	 ���-�	 .�	�=���	 �� ���G��7��� �� �	�� �7�	
�� ��-��	� �
��������� ����

����
���	 �	�	 	 ���	 �� ��� � ����<
��� ��� ������ 	� �7�	
�� ��� ����	 �
�,

���
��
�� ����	 ��75��	�� ��-��.� �5�	
�
���
��
��� ���	 = 	 ����
���	 �� �
��

��
����
����� �� �	
���6�� �
������� ������ �� �������� ��7���	�� 3	 <����	 �� �	�,

�	
	.�� W(&X� �� �
��	��	���� �� �������	 �7����� �� ��
�	 �� �
�-���	� +����,

�7
��	� �	�����	� ��	 �5�
������ �	� � ��	�������� �� ��$��
� WA&X� ������
����

�	� �������� �	�����
�� ��7���	�� �	�=�� �	�	 �	�������	� � ��.���� � �����	

�� ���������6�� 
� ���-����� �	�� �
����� ����������
�� ���� ����
���	� %��� =

	 ���	 �� ��� � ������	 1C�&(2 �	�
�,�� ����
�� � ������	 1C�&D2N

d2ξ(s)

ds2
= −(k + Af(s))ξ(s). 1C�&D2

�	�=�� ��������	� ���� 	 ���	 ������
��	
�
N

d2

ds2

⎛
⎜⎝ ζ

η

⎞
⎟⎠ = −

⎛
⎜⎝ 2φζζ − 1 2φζη

2φζη 2φηη − 1

⎞
⎟⎠
⎛
⎜⎝ ζ

η

⎞
⎟⎠ , 1C�&B2
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��� �	�� �7�	
� �� ���� �		���
���� ���������� �� ��

�
�-���	 +�����7
��	� # �	
���	 �
�
����� = �� ��
�	 ���
�	 �	��
�5�� � �	���
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	������ ���� �����8� �� �
����������	� # �� �� ����
���� � �
)
���� -��	� �������

�
�
�������
�� ���
�� ��H� ���	�N

• Aζζ = Aζη = Aηη = A

• Aζζ = Aηη = A → Aζη = 2A

• Aζζ = Aηη = A → Aζη = 5A�

�)$���� �� ���� ��������� *���������� ����� ������ �	 ��	�� ��+�����
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���� 	 �������	 ���	 1Aζζ = Aζη = Aηη = A2� � �	
���	 =N

ζ(s) = η(s) =
1

2
e(

1
60

√−5A2+3600)s +
1

2
e−( 1

60

√−5A2+3600)s. 1C�&E2

%��� �	
���	 	�-����
�� ��-��.� 
	 ���	 �� ��� −5A2 + 3600 > 0� � �	
-��.�

���
�	 −5A2 + 3600 < 0 �	�� ����
�� 
��� �	
���	 �	���
	���
�� ���
�
�	 �

�	
����	 �� �	
-��.H
��� � ��-��.H
��� ���� � ���
����� #N ����A < 26, 83281574

� �	
���	 = �
��)-�
� � ���� A > 26, 83281574 � �	
���	 = ���)-�
�

3	 ��.�
�	 ���	 1Aζζ = Aηη = A → Aζη = 2A2� � �	
���	 = �� �	���N

ζ(s) = η(s) = cos

(
1

24

√
2A2 − 576s

)
, 1C�C'2

	
�� � �	
���	 ��-��.� 
	 ���	 �� ��� 2A2 −576 < 0 �	�� ����
�� �� �� �	���
	

+�����7
��	� ���
�
�	 � �	
����	 �� �	
-��.H
��� ���� A > 16, 97056274�

��
�
��
��� 	 �������	 ���	 1Aζζ = Aηη = A → Aζη = 5A2 ��� �	�	 �	
���	N

ζ(s) = η(s) = cos

(
1

60

√
65A2 − 3600s

)
, 1C�C@2

����
�� �	 ���	 �
����	�� 	
�� � �	
���	 �	
-��.� ���� 65A2−3600 > 0� ����
��
�	


� �	
����	 �� �	
-��.H
��� A > 7, 44� %��� = �� �	� ����
���	� �	�� �	����,
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�� ���
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��������� WFX�

�'�	������ �� ������� �� ,����- eix + e−ix = 2cos(x)�
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�� ����

! 	�G���-	 �)���	 ����� ������
	 = � �
)
��� 
��=���� �	 �	��	�����
�	 ���

���� �����6�� ������
����� 	���
)���� �� ��.�
�� 	���� ��	�
����N

d2

ds2

⎛
⎜⎝ ζ

η

⎞
⎟⎠ = −

⎛
⎜⎝ 2φζζ − 1 2φζη

2φζη 2φηη − 1

⎞
⎟⎠
⎛
⎜⎝ ζ

η

⎞
⎟⎠ , 1(�@2
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	 �
����	�� ! 	�G���-	 �
�
���� � �5���H
��� �� �
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-�
�	 �� �
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����	 ������
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���	� �	�������	
��� �	 �����
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.�)��	�� ��� �	�	 �� �	
���P�
��� �
���������6���
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�����
�
����

���� ���	
-�� �� ���� �����6�� ������
����� 1��� (�@2 ��� ������-�� � ���,

�����	 ��� ���G��7���� �� �	�� �7�	
� �	 
	
.	 �	 ����	� �� �� �
�-���	 �	�
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.�	������ +�����7
���� �	� 
�����)��	 ���
�8�� �� �=�	�	 
��=���	 �� �	� ���,

	
���	� �	�� 
�	 �5���� �	
���	 �
�
����� ���� ���� ��	�
���� ���� ��
�	� �	�

����
-	
-��	 �� ��	.���� ���� ��
 �
�
������ ���
�8�
�	 � 
�
.��.�� �� ��	.��,

����	 /� #� �
������ ������)���� �
-	
-���� 
	 ��	�
��� ��	 ���� ��� G = c = 1�

	
�� G = � �	
���
�� .��-�����	
�
 � c = � -�
	������ �� 
�8�

!� �=�	�	� 
��=���	� ���
�8��	� ���� ���	
-�� �� �����6�� ������
����� 	�,

��
)���� ��	�
���� �� ��.�
�� 	���� �	��� 	 (��
�
?�		� 4�� ����� � 	 ��	���

�� 4����	 WACX� ! ���	 ���	����	 �	 �
.	����	 �� ��
.�,I���� = �� ���
�� 	�����

�	� ��� -�8 	 ���	 �� J��
�� = �� �������� 	����� �	�=� ���� :
���	 = ����� �� @'

-�8�� ���� �)���	�

/	�	 	 ��	����	 = ���	�)����	� �	� ���
�8��	 	 .����	� �� 
:���	� �
���7��	�

������ �����.��	 �� ��	.������	 �� /� .���
��
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���	
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:���	 �	
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�� �� ������� �� �����6�� ������
����� �� ��������

	���� ��� �����-��	� 
� �	��� -��	���


d�x

dt
= f(�x, t) 1(�&2
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	�� �=�	�	� ��
.�,I���� 1�I2 �� 	���� 
� �
�
���	� �	�	� 	� �=�	�	�

�� �	
���	 
��=���� �� �������� �������
���	� ��
� ������	 ������ ��� ����

��
��
�� x(j + 1) ���� ���
�� 	 �	
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�	 �� x(j)� ! �
.	����	 �� �I =

�	
+����	 �	�	 ��
�	 ����	 ������	 � ��� �	
+����	 ���� ��� 
��.� .��� ��

��	�
����� ! ���	 ��
���-	 �	 �I �� 4�� 	���� = �� O(4) WACX� � 	 ���	 
	��
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������� = O(∆t5)� ��� 
�	 �����	� � ���	
������	 ��-��	 � ��� �	��
�5������

� ����=� �	���� 
�	 
	� �
������� ����� �	���
	����

! ���	 �
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-��	 �� ���� 	���� �� �I = ������
�� ��-��	� ��������
��� �
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:���	 �� �
�����6�� ���
�8����� ! �=�	�	 ��
.�,I���� ��

	���
� ������	��� � ��� ���
�8� �=���� �	
������� �� ��
��	 f � ��
��
��� 
	�

�5����	� � �� �	
�	� �
�������)��	� �	 �
���-�
	 [tj, tj+1]� �� 
	
.� 	 ����

���
�8��	 = 	 ������� �	� �������	 �� ������ 	����� �	� ����� �� ��� ��
���	

�� ����	 � ��
�����	� �	�� ���
�	 ���	� � 	����� ���	� 	 
:���	 �� -�8�� ���

�� 
�������� ��
��
�� f �	� ����	 �� �
��.����	� � �	���
�	 ���� ���	���� ���

� �	���
���	� �	� ���	 
�	 �	���
��� 
� ���	��� �	� ��	�
����� �� �
=� �� 4��

	����� /	
������
�	 
	-���
�� � ��� 1(�&2 � ���
�
�	 h = ∆t
2
� 	 �������

�����.��	 =N

F1 = f(xj , tj)

F2 = f(xj + hF1, tj + h)

F3 = f(xj + hF2, tj + h)

F4 = f(xj + ∆tF3, tj + ∆t)

xj+1 = xj +
∆t

6
(F1 + 2F2 + 2F3 + F4). 1(�C2

���� ���	
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	���� �����6�� ������
����� �� ��.�
�� 	���� �	� ���� �=�	�	�

��������	� �����-H,
�� 
� �	��� �� �� ������� �� �����6�� �� �������� 	����N

d�x

dt
= �v

d�v

dt
= f(�x,�v, t).

���� 	 �����
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��� 
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�
 1����	2 ���	
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���
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�� �
:���	� ��	�
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d2�x

dt2
= f(�x, �̇x, t) 1(�(2
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�� ���	
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�� 	����

���
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��
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�	� ����	� � ��.��
�� �	��� �������� ���� � ����-��� ��.�
��N

(
d2x

dt2

)
t=tj

=
xj+1 + xj − 1 − 2xj

(∆t)2
1(�F2

���� 	 ���	 �� f 
�	 ����
��� �� -�
	������� �	� � ���
�8���	 �� ������	 �
��,

��	�� � �	
���	 
��=���� �� ������	 1(�(2 ���N

xj+1 = f(xj)(∆t)2 + 2xj − xj−1 + O(∆t4) 1(�A2
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�8��	� ���� ��8�� ��

����
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��=����� �	������� � ��.����

�	�=� �5���� �� ��	�
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�	 �� ��
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�� xj+1 ��
	 �
.	����	 ��
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��� �	�� 
��������,�� �	
+���� x �� �	�� �
���
��� �� ����	 �
����	���� ���	

=� 
��������,�� �	
+���� xj � xj−1� ����
��
�� 1� ���� ����=� = 	 ���	 ����2� ��
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���6�� �
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���� ���
�� � �	����	 � � -�
	������ �
����
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��� # �	��� ��� ���
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���	
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��� �	� ���
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�� ����
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��
�� � �������� �������	� � ���
�8�� 	 J��
�� �� ��.����� !� ����
���	� �	���
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���� �5�
���� 	 ��	������
�	 
��=���	� ���	���	� �� �����6�� ������
�����

1(�@2� ��� ������	� ���	
-��N

d2ζ

dτ 2
= −(Aζζf11(τ) + k)ζ − (Aζηf22(τ))η 1(�D2

d2η

dτ 2
= −(Aηηf33(τ) + k)η − (Aζηf22(τ))ζ, 1(�B2

	
�� k = −1 = � ���-����� �������
 �	�����	
��
�	 � .�	������ +�����7
����

37� ����
��	� 
���������
�� ����� �����6�� ��	�
���� �	� 	� �
.	����	�

�������	� �����N �I 4�� 	���� � J��
��� ���� ��
�	 ���
�8��	�

f11(τ) = fζζ(τ) =

N∑
n=1

cos(ωζζ
n τ + φζζ

n ) 1(�E2

f22(τ) = fζη(τ) =

N∑
n=1

cos(ωζη
n τ + φζη

n ) 1(�@'2

f33(τ) = fηη(τ) =
N∑

n=1

cos(ωηη
n τ + φηη

n ), 1(�@@2

	
�� N = 100� � �� ����PH
���� ωn � �� ����� φn ��	 ���	
+���� �� �	��� �
���7���

�
��� [90, 700] � [−1, 1]� ��������-���
��� �	� ���
�8��	 �� .����	� �� 
:���	�

�
���7��	� srand()� 
� ��.��
�� �7���
�N

nrand =
2.0 · srand() + 1.0

RAND`MAX + 1.0
− 1.0 1(�@&2

	
�� RAND`MAX� = ���
��	 ��
	 ������� �	�������	
�
� � nrand = 	 
:���	

�
���7��	 .����	�

�	� ���
�8��	 �� ����	 �� 0.001� ����	 �
����
 t[0] = 0.0� � �	���6�� �
������

ζ = η = 1.0� !� -�
	��� ���� �� ���
������ A � 	� -�
	��� �� ����PH
��� ��
���

ωmin � �)5��� ωmax �	��� �	
	���	� ��
��
��
��� $	.	 ��7� �� ����PH
���� �

�RAND.MAX � � ��	��� �������� �� ����� ��� � ������ srand() ��������� ��+���� ����

���������� �������� �� ���
��
�	 �� ���
��	���� /�
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�8�
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����� �	��� ��
��
���� �� ��.��
�� ��
����N

ωn = (ωmin + ωmax) · 0.5 + (ωmax − ωmin) · 0.5 · nrand()

φn = nrand() · π

�	� π = 3.141592653589793� ���	��� ����� ���������� 	� ����
���	� 	����	� ����

�� �����6�� 1(�E2� 1(�@'2 � 1(�@@2 
�� �����6�� 1(�D2 � 1(�B2� � 	 ��	.���� ��8 	

����	� .���
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	 �	����	 �	��,������ 1��2� ������
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�
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���	� 
���� �����
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%5����� ��H� ���	� �� ���-������ ���������� �	� ���� ��������-	� ���	� �� .�,

	������ �������
��	 �	� �����

 �� @BF( 1-�� �.��� #�&2N

• �	�� 1La'2N .�	������ ���
����
�^

• %������� 1La@2N .�	������ ���=����^

• �������� 1La,@2N .�	������ +�����7
����

%5����� �����	 �	���
��	� �� �	��� �
��� 	� ��H� ���	� �� .�	�������� ���

��	N
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• U �	���-�
 ������ ��� 
�
+� ���� �� ���
���� ���	 �	
�	 � ���
���� 	���	
�	
�	^

• ��� 
�
+� ���� �� �	������
�	 �
��	 �	�� ��� ����
���� �
���
�����
���
� ��
�� �����
���� ��
�	 ��� 
�
+� ����^

• �� �����
	 �	�� ��� �������	 �	� ���
���� �	
�	 �	�	 ��� ��
��	� � ���
,
���� ����<
��� �	�	 ��� ���	^

• "	�	� 	� <
.�
	� ���	� ��	 �.����^

� �������� ���� .�	������ ��� ���� ����
���������� ��� �� ������
�����

$���	����� �� ������
�� �	��������

• ���� ��� 
�
+� � �� �	
�	 �	�� �� 
�
+�� �	��
�� ��� 
�
+� �	�� ���
������� �	��� 	 �	
�	 ��� ���) ����
�
� � �������� 
�
+��

!� <
.�
	� �
����	��� � �� ���<
.�
	 �	��� @B'�� � ��� � �����
���H
��� ��

�� �����
	 = �.��
 � 2πR� 	
�� R = 	 ���	 ����� �����
	 1�.� #�& 1�22�

$���	����� �� ������
�� ��."
���

• ���� ��� 
�
+� � �� �	
�	 �	�� �� 
�
+�� 
�	 �5���� ��� 
�
+� ����8 ��
��� ������� �	��� 	 �	
�	 ��� ��G� ����
�
� � �������� 
�
+��

3���� ���	 �� .�	������ 	� <
.�
	� �
����	��� � �� ���<
.�
	 �	��� ����� ��

@B'�� � � �����
���H
��� �� �� �����
	 = ��
	� ��� 2πR 1�.� #�& 1�22�

/	
-�
��	
�
��
��� ��8��	� ��� ��� ������ ��� ���-����� �	����-� �	����

��� ���������� ������ �����
��� 
	 ����	 
��	 �� ��� �
�
	 ��
.�
��� � ���

���-����� = �	
���
��� ���� ��� ��
� �	�	 � �� ��.� #�C� � ���������� ���
��
��

����-���� 	 �
�
	 ��
.�
�� �	 ���	� �� ���� �	
�	 � �	� ���	 ��� ���-����� =


�.���-�� %
��	� �� ���	� ���-����� �	
���
�� 
�.���-�� ��-��	� ������� ��� 	�
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��.��� #�CN ��
�N �5���
	 �� ���������� �� ���-����� 
�.���-� 1.�	������ +����,
�7
���2

�����	��� �� ���� �	
�	 
� ���������� �� ������
+� � ��� ��
�� �	�=�� ������
��,

��
�� �� ��� ������� ���� ���������� 
�	 �� ���+� �� �� ������ = ����	
������ �

�+����� �� �������������

$���	����� �� ������
�� 0�%�

<����

• ���� ��� 
�
+� � �� �	
�	 �	�� �� 
�
+�� �5����� �
�
���� 
�
+�� �	���-���
�� ����� �������� �	��� 	 �	
�	 ��� ��G�� ����
�
�� � �������� 
�
+��

3���� ���	 �� .�	������ 	� <
.�
	� �
����	��� � �� ���<
.�
	 �	��� ��
	�

��� @B'�� � � �����
���H
��� �� �� �����
	 = ���	� ��� 2πR 1�.� #�& 1�22�

.�� ��
������ ��!����
���

J��	� �
��	��8�� �	
����	� �����)���	� ����
����� ���� 	 �������
�	 �� .�,

	������� ���-�� WD&X�
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#
	
� '����

��G�� �	�� �	
G�
�	� �� �	
�	� M � N � ��� ���� f = ��� ��
���	 �� M

�� N 1M → N2� ���
�	 �� �	
�	 �� M �� ��
���	
� �	� ���
�� �� �	
�	 ��

N � ! ���� f = 1 : 1 �� ��� �
-���� f−1 ����=� = �� ����� ��	� �� �
� ���)

���
��	 �� �	�	� 	� �	
�	� �� M � ��	� ��� �
=� ����	� �	���� �	�	� 	� �	
�	� ��

N � ���  �!���� �� �	� 1 : 1 � ��	��

#
	
	 "�������� ���������$%��

��� -�������� 
,����
��	
�
 = ���
��� �	�N

• �� �	
G�
�	 �� �	
�	� M ^

• ��� �	
���	 �
����)-�
 {Uk} �� ����	
G�
�	� �� M � � ��� �	��� M � ���	

=� M = ∪kUk^

• ���� ���� Uk �5���� ��� ��
�����	 ���
�-	�� φk �	 �	�����	
��
�� Uk ��

�� �����	 �� �n�

����� �	�	� �� ������� �� �		���
���� ��� ���
��� �	��� ���� Uk 
	 ��
���	

�� ��� �	���	� ���	���� ���
�-	����
�� � ���� �	
�	 P ∈ Uk� n 
:���	� �����

φk(P ) = (x1, ..., xn)� Uk = ��
	��
��	 ��%������� �� ����������� � ���� (U, φ)�

��� ���	�^ (x1, ..., xn) ��	 �� �		���
���� �� P 
� ����� (Uk, φk)�

• �� Uk ∩ Ul = 
�	 -�8�	� �
��	 � ��
�����	 φk.(φl)
−1 : φl(Uk ∩ Ul) → φk(Uk ∩

Ul) = ��� ��
�����	 �	
��
�� �� �� ����	
G�
�	 �����	 �� �n �� ��

����	
G�
�	 �����	 �� �n�

���� Uk ∩ Uk̄ 
�	 -�8�	� ��G� P ∈ Uk ∩ Uk̄� /	����	
��
�	 �� ���� ������ (k) �

(k̄)� P ��� �		���
���� (x1, ..., xn) � (x̄1, ..., x̄n)� %��� :
���� ��	�������� 
	� ��8

��� 
	 ��� �	��
�	 �� ���
���	 �� ��������� �	��� ��� �5������� �	�	 ��
�6��
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�	
��
��� ��� :
������ � -���,-����� ����� �	�	N

x̄α = x̄α(xβ)

xα = xα(x̄β),

	
�� α, β = 1, ..., n�

/	�	 �5���
	 �)���	 �� -���������� ���	� 	 �����	 %��
����
	 
,����
��	
�


�n�

# -�������� ������
��)-�
 ��� ���������	� ���) �
���������� �	�	 	 ��7���	

�����	,����	 � ���� �	
�	� �	�	 �-�
�	� 
���� �����	,����	� �	���
�	� ����

-�������� ���) ����������
��	
�
� � 
�
� ����	 ���
��	� 	� ����	� �����	�� ���

����	 ����	� ��
�	������ +�-��) ��� �	
�5�	 ���� ��� �� �	��� ���
�� ����-����

������ ����	�� � �� ��
�	� �=����	 ���� �� ���
�� ����<
���� ��������� � �
���-�
	�

�� ����	�

#
	
� (�������)���

��G�� �.	�� ���� -��������� ������
��)-���M �M ′ �	� ���� ��������-	� ��
��

Ψα � Ψ′
α � �� ���� f : M → M ′� �� � ��
��	 g ��� 
�-� Uα ⊂ �n 1���.��

�� �n �� �� �����	 �� M ��
� ����� Ψα2 �� U ′
β ⊂ �n 1���.�� �� �n �� ��

�����	 �� M ��
� ����� Ψ′
β2 ���
��� �	�N

g ≡ Ψ′
β ◦ f ◦ Ψα

−1, 1#�@2

���� ��� ��G���	 C∞ �	 �n → �n ���� ���� α, β� �
��	 ��8�� ��� f = ��

����	�	����	 ��M ��M ′� ��� ��	 �
��	 �+����	� �� �����	� ����	�	��	�� �	�

�5���
	� ��� ������ = ����	�	��� � �� �
���7��� �� ��-	
���	� ��� 
�	 � ��

���	 1��� 
�� = ��� -������� ������
��)-�
 �	� ��	�
���� �� ������
�����
�����

�� ���� ������ 
�� -�8�
+�
��� ��� �������2�
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#
�
� *������ ���������

����������
��� ����� ��8�� ��� ��
�	��� ��	 �
������� ��� �� �	��	���� ��

��� �������
��� �	��� �	� ��� ���
��	�����	 �� �		���
���� WD@ZDCX� ��
��,

�����
�� �� ��
�	� �� 	���� m × nN

T
a′
1...a′

m

b′1...b′n
= (A−1)a′

1
a1

...(A−1)a′
m

am
Ab1

b′1
...Abn

b′n
T a1...am

b1...bn
, 1#�&2

	
�� m = �� �
���� �	
���-����
�� � n = �� �
���� �	-����
��� � ����=� ���N

dxa′
=

∂xa′

∂xa
dxa = (A−1)a′

a dxa. 1#�C2

#
�
	 +���,� �� '��-�.�-�

/	�	 �� 	����-	� 
� "�	��� �� ��
���-����� %������
 1"�%2� �
���-�
	� ��

����	� �	������
�	 � ����
��
������ 
�	 ��	 ���	
��	� � ����
��� �� -�
	��,

���� ��
���-� �	 	����-��	�^ � -�
	������ �	
���� ����	 � �����	� ���	 =� 
�	

= ���� �	���-�
 ������� ����	 � �����	� #����� � ������ ����� �	��
�	 ��
�,��

�� �����	,����	� �� �	
��
�	 �� �����	 ����
�6��� ��
�	 ��H� ����
�6�� �� ��,

���	 ���� ��� ����
��	 �� ����	 W&X� ! �����	 �
�
	 ����������
��	
�
 ��

 �
L	M�L�� �	�	 = �+����	� ����=� = ��� �	
���	 ��� �����6�� �� %�
����


1��� 1#�&E22 � = �������	 ��
	 �
���
�	 �� 
�
+� ��  �
L	M�L�� ��� 
��� ���� =

�	 ��� �� �
���-�
	 .�	�=����	� ��
�	 ���	 �	��N

ds2 = ηµνdxµdxν , 1#�(2

�'�	������ ��� $������ ��������� ������	 ��	� ������	� � ������� �� ,��������
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�� ηµν = � �=����� ��  �
L	M�L�� � 
� 
	��� 
	����	 ���)N

ηµν =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0

0 −1 0 0

0 0 −1 0

0 0 0 −1

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

. 1#�F2

!� ��
��� �	� �
���
�	� ���.	
��� ����� �����8 ��	 �+����	� �� ������	��� ��

��	����� ����=� �	�����	� ����� �	���N (+,−,−,−)� 3	�� ��� � �	��� �����

�
���
�	 �� 
�
+� = ��������
���

∆s2 = (c∆t)2 − ∆x2, 1#�A2

� = ���	���
�� ����� ��� ∆s2 = �� �
-����
�� �	� ���
��	����6�� �� $	��
�8�

� ���� �������
�� �	-�
�	,�� �	� � -�
	������ �� 
�8 ��8,�� ��� �	-��,�� ��

.�	�=����� 
�
�� 1�	� �5�� 	� �7�	
�2N

∆s2 = 0 → c∆t = ∆x.

��
����
1������ �� ����
����� �� ��%���&���%�

%5����� ��H� ��
	��
��6�� ���� �
���-�
	� 
	 �����	,����	� ��� ��	N

• ��%� ���%� ∆s2 > 0 N ���� �������
�� �	� -�
	������ ��
	� ��� � �� 
�8^

����<
��� �������
 �	�� ��� ����	����� ��
� 
�8^ �5���� �� ������
���
 �
�����



	 ���
 �	�� �-�
�	� ��	
����� 
� ����� �	����	� ��� 
�
�� 	�	����

����
��
����
��^

• ��%� 3�%��� ∆s2 < 0N ���� �������
�� �	� -�
	������ ���	� ��� � ��


�8^ ����<
��� �������
 
�	 �	�� ��� ����	����� ��
� 
�8^ �5���� �� ������
,

���
 �
�����
 
	 ���
 �	�� �-�
�	� ��	
����� ����
��
����
��� ��� 
�
��

	�	���� 
� ����� �	����	^
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��.��� #�(N /	
� �� 
�8� �������
��
�	 	 ������	 t < 0 1�	��� ������ 
� ��.��	
��2� 	 �����
�� t = 0 � 	 �����	 t > 0 1�	�	� �����	� 
� ��.��	 �2� s2 = 0 =
�5�����
�� � �	��� �	 �	
�� = 	 
����� �
��� 	 �
���-�
	 ���	 ����	 s2 > 0 1��.�6��
� � ��2 � 	 �
���-�
	 ���	 �����	 s2 < 0 1��.��	 ���2� ! 	����-��	� �
�	
���,�� 
�
	��.�� �	 �	
��

• ��%� �	# ∆s2 = 0N ���� �������
�� �	� � -�
	������ �� 
�8�

�	���	� -����
�8�� ����� ������6�� �� �	������� �
��� �	� 	 �	
� �� 
�8� �	�����	


� ��.��� #�(�

#
�
� 
����� �/�����

! ��
�	� �=����	 = �� ����	 ��
�	���
 ��� �	���	� ���
�� �	��� � -��,

������� ��� ���	��� �	�� -��	��� � �� 
:���	 ���
� ��� �	�
��� 	 <
.�
	 �
���

�
��� "����
�	,�� �	 ����	 -��	�� �	���	� ���	���� ��
 
:���	 � ��� ��.,


������ 3���� �����
+	� �	
���������	� � �=����� ���=������ ���� �	�� �-�
�	�

�������	� ��
	 -��	� �
�
�������
 dxµ� 	 �
���
�	 �� 
�
+� �
�
�������
 ���) ���	

�	�N

ds2 = gµνdxµdxν . 1#�D2
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3	�� ��� ���� �� �����	 ���
����
	 �,����
��	
�
 �� �		���
���� ��������
���

���������	� 	 �����	,����	 ��  �
L	M�L�� 	
�� gµν = ηµν 1���� 1#�(2 � 1#�F22 �

!� ��
�	��� �=����	� gab � gab �������� ������
���� ��� >����-�
H
���> �
���

-��	��� �	
���-����
��� � -��	��� �	-����
���� ���	 =� �� va = �� -��	� �	
���-���,

�
��� �
��	 ���
�,�� 	 -��	� �	-����
�� ���	����	 �	�	 va = gabv
b� � -���,-�����

���	 	�	��� .����� � ��� ���	���
�� ��	�������� �	 ��
�	� �=����	N

gabgbc = δa
c 1#�B2

#
�
� 
����� ���0�,1�

J��	� ���
�� 	 �������� ���!���� ha
b ���=����	� �� �� �����	 ���,����
��	
�


	��	.	
�
 � V a� �� �� ����	 
	���
�8��	 V aVa = 1� �	�	 ��
�	 ���	 �	�N

ha
b = ga

b − V aVb, 1#�E2

�	����
�	 �� ��	���������N

ha
bV

b = 0

AbVb = 0 → ha
bA

b = Aa

ha
a = 3.

#.	��� -��	� ���
�� 	 ��	�� ����$�� ��	�
����� ��� = � ��	G���	 	��	.	
�
 �	

��	�� ����$��� �
��� .�	�=����� -�8�
+��� %
� = ���	 �	�N

ηa = ha
bξ

b, 1#�@'2

�������8�
�	 ηaVa = 0 � ηa⊥Va� ! -��	� ��
.�
�� V a �	�� ��� �
���������	

�������
�� �	�	 � ������,-�
	������ �� �� 	����-��	� ��� ��� ��� 
�
+� ��

��
�	 �	�	 ��
�	 � .�	�=���� C 1��.� #�F2�
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#
�
2 ����31�4 ������� �� �������5��

#	 �� ���
�� �� �������
��	 ���	 �� �����	,����	� �� ���	
+� ����=� 	�

�	�����
��� �	 ��� ��� �� *����	�@��� ���	 =� �� ����$��� � �	
�����
����
��� ��

���
� � ��� �� 	�������	� �������� WD@� D&X�

%5���� ��� 
	��	 �� ���
��	��� �� ��
�	��� ��� �5�.� ��	 �	��
�� � ���
���	

����� ���
������ �+����� �	
�5�	� ��� �	
���� -��	��� �� �����	� ��
.�
���

������
��� ����-=� �	 �+����	 ���
��	��� ����
�
	� #� �	��	
�
��� �	 -��	�

���
��	����	 ����
�
���
�� ��	 ����� �	�N

A||α(xγ + dxγ) = Aα(xγ) − Γα
λµ(xγ)Aλ(xλ)dxµ. 1#�@@2

# ���	
+� �	� �	�����
��� �� �	
�5�	 Γα
λµ� ��� ���������8�� � 
�� �� ���
��	���

����
�
	� �	�� ��� �������� �� �	�	 � ������-�� � 
	��� �	� -��	��� ���
��	���,

�	�� �	��,�� �	����� ��� ���	 ����-�
� � �	
����	 gλµ,α = 0�

# �	
�5�	� ����=� �+����� �� ��
������ = ���� ����=� �� ����	� �	

��
�	� �=����	 gµν �	��N

Γα
βγ =

1

2
gαδ(gβδ,γ + gγδ,β − gβγ,δ), 1#�@&2

� � ������ ��� ��	��������� �	 ��
�	� �=����	� �+�.��	� �� ��.��
��� ��	���������

���� � �	
�5�	N

Γi
ij = Γi

ji =
1

2gii
gii,j 1#�@C2

Γj
ii = − 1

2gjj
gii,j 1#�@(2

δΓi
ij = δΓi

ji =
1

2gii + δgii
δgii,j 1#�@F2

δΓj
ii = − 1

2gjj + δgjj
δgii,j. 1#�@A2

������
�	�� � ��
����� ������� ���� ������� �������� ��	�	-
∂xα

β

∂δ = xα
β,δ �

∂2xα
β

∂δ2 = xα
β,δδ�
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#
�
6 
����� �� ���%�����

! ��
�	� �� ���-����� ��� ������-� � ��
<���� �� ���-����� �	 �����	,����	�

����=� �	
+����	 �	�	 	����� �� (������ Rα
µνβ � = ���	 �	�N

Rα
µνβ = Γα

µβ,ν − Γα
µν,β + Γα

ενΓ
ε
µβ − Γα

εβΓε
µν . 1#�@D2

�	��,�� �	����� ��� �
� = ��	�	���	
�
 � ����
�� �	����� �	� �� -��	� ���
�	

���� = ���
��	����	 ����
�
���
�� �	 
	
.	 �� ��� ���-� ���+��� WD@� D&X� !

��
�	� �� ���-����� ����=� ���) ��
���	
��	 �	� ��� ���
������ ����	 ���	�,

��
��N 	 ���-�	 .�	�=���	 1#�(2�

! ��
�	� �� ���-����� �������8 �� �+������ ����	������ �� ,������ WD@� D&X�

��� ���
�	 � �	���	 = 
�
�� �� �����-� �	�	N

Rα
µνβ,ε + Rα

µεν,β + Rα
µβε,ν = 0. 1#�@B2

3	� �����	� �� �����

� 	 ��
�	� �� ���-����� Rµναβ = �
��,���=����	 
� ��	��

�� �
����� 
	� �������	 � ��.�
�	 ������ ���=����	 
� ��	�� .
	��
 �	 �������	

��
	 ��.�
�	 ��� � ��
�� �������8 ��� ��	�������� ���
��� 
	� :
���	� 3 �
������

���	 ��8 �	� ��� �
� ��
+� �	��
�� 20 �	��	
�
��� �
����
��
���� �������
�	 �

���
���	� ��� ����.������� �	 ��
�	� �� ����� WD@� D&X� ��� ����
�� �� �	
�����	

�� �	�� �
������

Rµβ ≡ Rα
µαβ , 1#�@E2

�	 ������� �� �����	���N

R ≡ gµβRµβ , 1#�&'2

� �	 	����� �� )���	���N

Gµν ≡ Rµν − 1

2
Rgµν , 1#�&@2



D@

��� �������8� ��� ����	������ �� ,������ 1������	 1#�@B22N

Gα
ν,α = 0. 1#�&&2

3	 �����	 �
�
	 	 ��
�	� �� �����

Rα
µνβ = 
�
	 �� �	�	� 	� �	
�	�� �� ���
����

������� �� �		���
�����

#
�
7 
����� �������!��������

! ��
�	� �
��.��,�	��
��� Tµν ������-� � �����������	 �� �
��.�� 
	 �
�,

-���	� 	� ����
����
�� ��� �����������	 
	��
 �� �
��.�� � �	��
���� /	
,

������
�	 �� Q���	 �������	 �	�	 ��
�	 �	
�� �� .�	������� �	���	� �����-��N

Tµν = ρVµVν , 1#�&C2

	
�� V µ = δµ
0 � 	 ���
 �������
�� 	 	����-��	� �	,�	-�
��� "���=� �	��,��

�����-H,
	 �	�	N

Tµν = ρVµVν − p(gµν − VµVν),

	
�� p �������
�� � ������	 � ρ = � ��
������ �	��
 �� �
��.��� %��� ��
�	� = �

�	
�� �� ���-����� �� .�	�������

#
�
8 ����� �� ������

*��
�	 ������	� �� �� �
�-���	 �� �5��
��	� ��������	� �� ��� �5������	

��� ���� �	
�	��� 	 �����	,����	 �� �5��
�� 1��� 1&�C22� ! ����	 ����
��
��

�	 ����	� R(t) 	� a(t) �	
�	��� 	 ���	�� = �	
+����	 �	�	 ���	� �� ����
� �	

�
�-���	� ��� �	�� ��� �	
���
�� 	� ����
��
�� �	 ����	 �	
�	��� 	 �	��
	 W&@X�

���� �� �
�-���	 �	� ���-����� �	����-�� 	 ���	� �� ����
� ����� ����
���
��
��

	 ���	 �	 �
�-���	 
	 ����	 t�



D&

"	�	� 	� 	�G��	� ����	
R���	� ��G���	� ���
�� � �� ����	 .��-�����	
�
 �	�,

�	
7.��	 ��.��� �	���
�	� �� .�	�=����� �� .�	������� � �H� �		���
���� ���������

�	
���
��� �	 
	
.	 �� ��� +���7��� 1�� �+������ �		���
���� �	,�	-�
���2� #�,

���� � ����<
��� �������
 �
��� �	�� 	�G��	� ����	
R���	� �
��� t1 � t2 �7 -����

����-=� �	 ���	� �� ����
� R(t)�

.� �(���	
 �
 �����
 #�
�-��



%� �����	� ���-	�� � ������	 �	 ���-�	 .�	�=���	 1��.� #�F2 �	
�=� �
�	�,

���6�� �	��� �� �	���� �� ���= 
� ���-����� �	 �����	,����	� 	
�� �� �������
��

��.��� .�	�=������ 3	 
	��	 ���	� �� �������
�� ��	 �7�	
� � � ���
�����	 �� ����

.�	�=����� -�8�
+��� ��� ������� ��� �� 	���� ���
�� �	� ��� �����
� ������
��


�� ���� �	
���6�� �
������� = ���� �	�N

D2ξα

dλ2
= Rα

µνβV µV νξβ. 1#�&(2

3	 
��	 ������	 ����� �5������	 ���	� 	 ��
�	� �� ���-����� �� �����

�� � V ν

= 	 -��	� ��
.�
�� � ���G��7��� �	 �7�	
� 3	 
��	 �������	� λ = 	 ���<����	 ����

ξ = 	 -��	� �� �	
�5�	 ��� -�� �� ��� .�	�=���� � 	����� �	
����
�	 �	
�	� �

�
���-�
	� �.���� �� λ�

# �� �� ���������	� �� �	��	 ���� �� �
�����	 �	��� 	 ����
�	� �����	�

� ��.��� ��� �
)
��� 3�M�	
��
� �� ��� �������	 ����
�� ���� ���� �������
��


�	,��
���-��������

#
�
� (��%�� ����/���� �� ���%���,1� 9�.�������

/	
������
�	 �� �	��
���
 .��-�����	
�
 3�M�	
��
	 Φ = Φ(xα)� � ���� ���,

-�� C1 � C2 �� ���<����	 t 1�	� �5���
	 � �		���
��� ����	��
2 ���� ������-��

�!��� ��� � ������ �� ��������� � �	 ������ � ��� ���� ��� ������� ��� �	� ��������	����

�� ������������



DC

��.��� #�FN ���-�	 .�	�=���	 ξα �
��� ���� .�	�=����� G � G′� � ���� �	�����	
,
��
��� -��	��� ��
.�
��� V µ � V ν �

	 �	-���
�	 �� ���� �������
�� ������ P � Q 
�	,��
���-������� �� �� �	��
���


.��-�����	
�
 Φ� 3�� ���	 ����	 t� �� ���� �������
�� ����	 �	���6�� xa � za� ��

����� -������	 
	 ����	� #
=� ����	� ���5� ηa(t) ��� �� �	��	
�
��� �	 ���-��	�

������
�	 �� ���� �������
�� 1���-��	� �� �	
�5�	2 � ���
���� ����	� ���	 =N

za = za(t) = xa(t) + ηa(t). 1#�&F2

�	���� �5���� ���
�� ��� �	��� ��
�	 ��
����� 1�	��� .��-�����	
�
2� �� �����6��

�� �	-���
�	 ����	 �������
����
�� ����
��� 
� �	���N

ẍa(t) = −(∂aΦ)P

z̈a(t) = −(∂aΦ)Q = ẍa(t) + η̈a(t), 1#�&A2

	
�� (∂aΦ)P,Q ��	 �	���� .��-�����	
��� ����
�	 �� P � Q 
	 ����	 t� 37�

�	���	� �.	�� �5��
��� �� �=��� �� "�S
	� 	 �	��
���
 .��-�����	
�
 Φ �� Q ��

����	� �	 ���-��	� �� �	
�5�	N

(Φ)Q = (Φ)P + ηb(∂aΦ)P + O(ηaηa), 1#�&D2



D(

�� �	��� ��� �� �����6�� 1#�&A2 �	��� ��� ���������� �	�	N

ẍa + η̈a = −(∂aΦ)Q = −∂a[(Φ)P + ηb(∂aΦ)P ] = (∂aΦ)P − ηb(∂a∂bΦ)P ,

	� ����-�
�
����
��N

η̈a = −(∂a∂bΦ)ηb = −Ka
b ηb, 1#�&B2

	
�� Ka
b ≡ ∂a∂bΦ�

# ������	 1#�&B2 �������
�� � ������� �� 
�������� 
� ������ 3�M�	
��
� �

�5������ 	 ���	 ��� � ����<
��� �
��� ���� �������
�� �� ����� 
�-�� ��) -�����

�� �
�� �� �	-���� �� �� ����	 .��-�����	
�
 
�	,�
��	���� #
=� ����	� �����

��� η̈a = 0� �� Ka
b = 0� � ������	 1#�&B2 ������� �	�	 � ���
�����	 ��
���-�

�
��� �� ���� �������
�� 
�	 = ����8 �� �����
.P�� �
��� �� ����	 .��-�����	
�


�
��	��� ∂aΦ = 0 � �� ����	 
�
	 Φ = 0� ��
	 ��
	� �� ���
����	� U �����	 ��

��	��� �� .��-�����	 �� 3�M�	
 � �� 	����-��6�� ����	
R����� ��� 
�� .��-�����

�� 3�M�	
� Φ ∼ 1
r
� �
��	� Ka

b ∼ 0� �	��
�� � .��
��� ����<
���� �� �	
�� �	

�	��
���
 Φ� 	
�� Φ → 0�

.�$ �(���/�� �� ��������

3� -�������� ����������
��	
�
� ��� = 	 �����	,����	� ����	 ���
��	� 	�

����	� �����	�� ��� ����	 ����	� ��
�	������ +�-��) ��� �	
�5�	 ���� ��� ��

�	��� ���
�� ����-���� ������ ����	�� � �� ��
�	� �=����	 ���� �� ���
�� ���,

�<
���� ��������� � �
���-�
	� �� ����	�

3�� �����6�� �� %�
���
� 	 �
�-���	 �
����	 �	�� ��� �������	 �� ��� :
���


�
+�N

Gµν = −κTµν , 1#�&E2

	
�� κ = 8πG
c4
1��
�	 G � �	
���
�� .��-�����	
�
 �� 3�M�	
� � c � -�
	������

�� 
�82� 	 ��
�	� Gµν 1��� 1#�&@22 = ���� ������-� � .�	������ �	 �����	,����	



DF

����-=� �	 ��
�	� �� ����� Rµν 1��� 1#�@E22 � �	 ����
�� �� ���-����� R 1���

1#�&'22�

Gµν ≡ Rµν − 1

2
Rgµν 1#�C'2

� 	 ��
�	� Tµν 1��
�	� �
��.��,�	��
���2� ������-� � �����������	 �� ���=���

� �
��.�� 
	 �
�-���	� *��
�	 Tµν = 0 ���	� ��� Rµν = 0� � 
���� ���	 �

��������� ��
����
��
 �	 �����	,����	 = 	 �����	 ��  �
L	M�L�� %��� ���	 ��

�����	,����	 = ����
��
�� ���
�8��	 ��
	� �	��7
	.	� �	�	  ��-
������ 	� �
�
	

�� ��
�	� ���� 	� ��	�
���� �	��	
7.��	��

# ��
���-����� ����
 = ��� ��	��� �	
������
��
�� �	��
������ �	�� �
-	
-�

�	
����	� �	��
�5	� � ��=��� 
�	 ����	 �
�����-��� ���� �	�	 � ��7���� ��
���-�����

�	 �����	 � �	 ����	� � ����=� � ���-����� �	 �����	,����	� # ������	 1#�&E2


� -������� = �� �	
G�
�	 �� 10 �����6�� ������
����� �������� ��	�
����� 
�	,


�
����� 1���	 =� 
�	 = -)
��	 	 .�������� �� ������������2� 	
�� 	 �����	 � 	

����	 ��	 ����� �� �	
���	� � � �5��� �	
���	 = �	
+����� ���
�� �� �
.�
�

�	��	� ���	� ����
���

3	 �����
�� �����
+	 ���
�8��	� ��� �	
���	 ��� �	
+����� ���� �� �����6��

�� %�
����
� �	
������
�	 ��� �����������	 ��	��7���� � +	�	.H
�� �� �����

	
��� ����� �	�	 
� ��
<���� 
�M�	
��
�� � .��-����� = ������ ������-�� %���

�	
���	 = � �	
���	 �� �������

 1������
���� 
	 ������
	 &2 ���� 	 �
�-���	 ��

�5��
��	� 3�	 ��������	� �� �	
���
�� �	��	
7.��� 
�� �����6�� �� %�
����
�

�	�� ������ � �� �
�-���	 ���	 �� ��		��� 
	 ���
 
�	 �����	� �
��������	� �����



��'	���� )

*���	&��&���	
� +�
���
���

%��� ��H
���� = �������	 �	 ����
-	
-���
�	 �	 �)
��
	 ��� 
�-� � ������	

1&�(2� ������
���� 
	 ������
	 &N

d2ξα

dλ2
= (R′α

µνβ + δRα
µνβ)V µV νξβ 10�@2

��= �� �����6�� 1&�@'2N

d2

dτ 2

⎛
⎜⎝ ζ

η

⎞
⎟⎠ = −

⎛
⎜⎝ k + 2φζζ 2φζη

2φζη k + 2φηη

⎞
⎟⎠
⎛
⎜⎝ ζ

η

⎞
⎟⎠ . 10�&2

0�� &
���	


3���� ��H
����� ���	
-��	� � ������	 10�@2� ����=� �	
+����� �	�	 )������

�� ;����� #��������� # �� �� �	�
�� � ���	
������	 ���� ���)����� ��-����	�

	� �)
��
	� �� ��H� ������N ��� ���� 	 
��	 �������	 �� ������	� � ���� ���� 	


��	 ������	 �� ������	� � ������ ���� 	 ����	 
�	,���������	� � ���� 	 ����	

���������	�

#���� �	�	 �	�����	 
�� �����6�� 1&�D2 � 1&�E2 �	 ������
	 &� ����� ��	 	

��
�	� �=����	 
�	,���������	 � 	 ��
�	� �=����	 ���������	� ��������-���
���

DA



DD

�	�	 ��.��N

gγε =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0

0 −f(r) 0 0

0 0 −f(r) 0

0 0 0 −f(r)

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

10�C2

	
��� ���� ����
����� � 
	����	� ���
��	�N

f(r) =
1(

1 + k
4
r2
)2 10�(2

�

δgγε =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

2φ 0 0 0

0 2φf(r) 0 0

0 0 2φf(r) 0

0 0 0 2φf(r)

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

. 10�F2

"���=�� �	
�	��� -���	 
	 ������
	 C� �	���	� �� ��.��
��� �����6�� ���� 	

�	-���
�	N

V µ = V ν =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1

0

0

1

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

, 10�A2

� �� ��.��
��� �	��	
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ξβ =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

0

ζ

η

0

⎞
⎟⎟⎟⎟⎟⎟⎟⎠
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hρ
α = gρ

α − V ρVα. 10�B2
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hρ
α = δρ

α − V ρgαγV
γ . 10�E2
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hρ
α =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0

0 1 0 0

0 0 1 0

0 0 0 1

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

−
(

1 0 0 1

)
⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0

0 −f(r) 0 0

0 0 −f(r) 0

0 0 0 −f(r)

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1

0

0

1

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

10�@'2

=

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 0

0 1 0 0

0 0 1 0

0 0 0 1

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

−

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

1 0 0 −f(r)

0 0 0 0

0 0 0 0

1 0 0 −f(r)

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

10�@@2

=

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

0 0 0 f(r)

0 1 0 0

0 0 1 0

−1 0 0 1 + f(r)

⎞
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ξα =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

0

ζ

η

0

⎞
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ξρ =

⎛
⎜⎜⎜⎜⎜⎜⎜⎝

0

ζ

η

0

⎞
⎟⎟⎟⎟⎟⎟⎟⎠

, 10�@(2
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d2ξα

dλ2
=⇒ d2

dτ 2

⎛
⎜⎝ ζ

η

⎞
⎟⎠ . 10�@F2
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(R′α
µνβ + δRα

µνβ)V µV νξβ, 10�@A2
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(R′α
µνβ + δRα

µνβ)V µV νξβ = R′α
µνβV µV νξβ + δRα

µνβV µV νξβ. 10�@D2
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R′α
µνβV µV νξβ = R′α

001 + R′α
002 + R′α

031 + R′α
032 + R′α

301 + R′α
302 + R′α

331 + R′α
332 10�@B2
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 1#�@D2 ���N

Rα
µνβ = Γα

µν,β − Γα
µβ,ν + Γα

ρβΓρ
µν − Γα

ρνΓ
ρ
µβ . 10�@E2

���� ���	
-�� � ������	 10�@B2 ���
�	 � ������	 10�@E2� ���
�8��	� �� ��	,

��������� �	� ����	
	� �� /+����	O�
N

Γi
ij = Γi

ji =
1

2gii
gii,j 10�&'2

Γj
ii = − 1

2gjj
gii,j 10�&@2

δΓi
ij = δΓi

ji =
1

2gii + δgii
δgii,j 10�&&2

δΓj
ii = − 1

2gjj + δgjj
δgii,j, 10�&C2

� 	� -�
	��� �	 ��
�	� �=����	� ���	� 
	 �
���	 ����� ��H
����� ����
-	
-�
�	 	�



B@

�)
��
	�� ���	�N

R′α
µνβV µV νξβ = Γα

00,1 − Γα
01,0 + Γα

ρ1Γ
ρ
00 − Γα

ρ0Γ
ρ
01 + Γα

00,2 − Γα
02,0 + Γα

ρ2Γ
ρ
00 − Γα

ρ0Γ
ρ
02

+ Γα
03,1 − Γα

01,3 + Γα
ρ1Γ

ρ
03 − Γα

ρ3Γ
ρ
01 + Γα

03,2 − Γα
02,3 + Γα

ρ2Γ
ρ
03 − Γα

ρ3Γ
ρ
02

+ Γα
33,1 − Γα

31,3 + Γα
ρ1Γ

ρ
33 − Γα

ρ3Γ
ρ
31 + Γα

33,2 − Γα
32,3 + Γα

ρ2Γ
ρ
33 − Γα

ρ3Γ
ρ
32

+ Γα
30,1 − Γα

31,0 + Γα
ρ1Γ

ρ
30 − Γα

ρ0Γ
ρ
31 + Γα

30,2 − Γα
32,0 + Γα

ρ2Γ
ρ
30 − Γα

ρ0Γ
ρ
32.
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R′α
µνβV µV νξβ = Γα

00,1 − Γα
01,0 + Γα

01Γ
0
00 + Γα

11Γ
1
00 + Γα

21Γ
2
00 + Γα

31Γ
3
00 − Γα

00Γ
0
01

− Γα
10Γ

1
01 − Γα

20Γ
2
01 − Γα

30Γ
3
01 + Γα

00,2 − Γα
02,0 + Γα

02Γ
0
00 + Γα

12Γ
1
00

+ Γα
22Γ

2
00 + Γα

32Γ
3
00 − Γα

00Γ
0
02 − Γα

10Γ
1
02 − Γα

20Γ
2
02 − Γα

30Γ
3
02

+ Γα
03,1 − Γα

01,3 + Γα
01Γ

0
03 + Γα

11Γ
1
03 + Γα

21Γ
2
03 + Γα

31Γ
3
03 − Γα

03Γ
0
01

− Γα
13Γ

1
01 − Γα

23Γ
2
01 − Γα

33Γ
3
01 + Γα

03,2 − Γα
02,3 + Γα

02Γ
0
03 + Γα

12Γ
1
03

+ Γα
22Γ

2
03 + Γα

32Γ
3
03 − Γα

03Γ
0
02 − Γα

13Γ
1
02 − Γα

23Γ
2
02 − Γα

33Γ
3
02

+ Γα
33,1 − Γα

31,3 + Γα
01Γ

0
33 + Γα

11Γ
1
33 + Γα

21Γ
2
33 + Γα

31Γ
3
33 − Γα

03Γ
0
31

− Γα
13Γ

1
31 − Γα

23Γ
2
31 − Γα

33Γ
3
31 + Γα

33,2 − Γα
32,3 + Γα

02Γ
0
33 + Γα

12Γ
1
33

+ Γα
22Γ

2
33 + Γα

32Γ
3
33 − Γα

03Γ
0
32 − Γα

13Γ
1
32 − Γα

23Γ
2
32 − Γα

33Γ
3
32

+ Γα
30,1 − Γα

31,0 + Γα
01Γ

0
30 + Γα

11Γ
1
30 + Γα

21Γ
2
30 + Γα

31Γ
3
30 − Γα

00Γ
0
31

− Γα
10Γ

1
31 − Γα

20Γ
2
31 − Γα

30Γ
3
31 + Γα

30,2 − Γα
32,0 + Γα

02Γ
0
30 + Γα

12Γ
1
30

+ Γα
22Γ

2
30 + Γα

32Γ
3
30 − Γα

00Γ
0
32 − Γα

10Γ
1
32 − Γα

20Γ
2
32 − Γα

30Γ
3
32. 10�&F2
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g00,i = 0

gii,0 = gii,2 = gii,3 = 0

δgjj,0 = 0 10�&A2
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Γ0
jj = Γ2

jj = Γ3
jj = 0

Γ0
j0 = Γ0

0j = 0

Γi
0i = Γi

i0 = Γi
2i = Γi

i2 = Γi
3i = Γi

i3 = 0

Γi
00 = Γ2

22 = Γ3
33 = 0

Γi
jk = 0(i �= j �= k)

δΓ0
jj = 0

δΓj
0j = δΓj

j0 = 0, 10�&D2
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R′α
µνβV µV νξβ = Γα

33,1 + Γα
11Γ

1
33 − Γα

33Γ
3
31 + Γα

12Γ
1
33 + Γα

30,1 − Γα
30Γ

3
31.
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R′α
µνβV µV νξβ = Γ1

33,1 + Γ1
11Γ

1
33 − Γ1

33Γ
3
31 + 2Γ2

12Γ
1
33.
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R′α
µνβV µV νξβ =
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g11

)
,1

+
1

2
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R′α
µνβV µV νξβ =

1

2

(
f(r),1

f(r)

)
,1

+
1

2

(f(r),1)
2

(f(r))2
, 10�&B2
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f(r), 1 = − kr(
1 + k

4
r2
)3 = − kr(

1 + k
4
r2
)f(r), 10�&E2
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R′α
µνβV µV νξβ = − k(

1 + k
4
r2
) +

k2r2

2
(
1 + k

4
r2
)2 − 2k2r2

(4 + kr2)2 , 10�C'2
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R′α
µνβV µV νξβ =

⎛
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0 0 0 0

0 −k 0 0

0 0 −k 0

0 0 0 0

⎞
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δRα
µνβV µV νξβ = δRα

001 + δRα
002 + δRα

031 + δRα
032 + δRα

301 + δRα
302 + δRα

331 + δR′α
332.
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δRα
001 ⇒ δR1

001 = −2φ,11

δRα
002 = 0

δRα
031 = 0

δRα
032 = 0

δRα
301 ⇒ δR0

301 = −2φ,31

δRα
302 = 0

δRα
331 ⇒ δR1

331 = −2φ,33

⇒ δR3
331 = −2φ,31

δR′α
332 = 0,
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φ,11 → φ,ζζ

φ,31 → φ,ηζ

φ,33 → φ,ηη

φ,31 → φ,ηζ
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ζ

η

0
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